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01. 7% whes e avee H,S o Tor el 19, Tefce s GRS Ry
(a) H;NCSNH: + H:0  (b) FeS + 7 H:SO, Ot et (o) TR
":':l FI:S{'."I. * ﬂ li_-S'DI @'CI‘LC&N H; + H;ﬂ' {F."]' F o m [d} w‘ m
"1':;3;“1: oo -ﬁgﬁﬂ p— :n,::._!-.l::ptﬂa: the following sentence: Do you know
() 2= =, (d) 7= »n £ the results will be published
03, Which of the following can be used as a “modal” as {b) are the results published
well as “mam’ verb? (c) the results wall publish
{a) do ﬁ need (choould  (d) mund {d) will the resules publish
04. What kind of pronoun are "who, what, and whach™ | 31, e caaT SE55m a1 feewrs avfone s<Rxdda =0
{a) demonstrabive ib) personal ir_-gﬂ I E lc) =2 {dy ¥
@ rclative (d) reflexive 17 fnse caT wagE SEEE S0y
05. The word “recaleitran!’ means- @ = by} = (¢} T (d) ==
@) mutinous (b} compliant 93, raafs ot wa wihey
(¢) docile (d) amenable .ﬁ-rﬂrﬁ PRI S—
06. The flight is leaving shortly. Here ’_‘-hu.ﬂ..l"." 15 - (b) wafee Safaat
(a} a subject 0 an adverbial : '%m pa
{c) a complement {(d) an adjective (<) E: el -l
07.5TP (2 5% @M SO, (e S0 5231 () EMAHE Ny o _
@2240L (b} 2478 1. 24. 0o ofz sy oo O (curdled milk) 22E Fer
(€) 2400.00 L (d) 223.00 L (a) ¥Far==m (b) A==
08. % clitry =ATEw red: s farerey @ werT (d) = P
(3) CCLNO. (b) CH.NH. 25,357 FTER e U ey e fofe Roediva am vy,
CH,CN {(d) NHLNKO (a)7cafrs @) = fe)=d=g  (d) ==
09. SeETH (ST 26 7T T o
T @= () e @ s e
(c) Fermm ™ () ¥mE ot (b} =feimfe Thom Tegfe ==
10,75 WIS W1 TR0 TREE wy () wrTi
(a) Mucor pusillus (b} Aspergillus flavis (d) S W=y WA
@0 Agaricus compestris  (d) Saccharomyces 27.1 Kg =iz ot v | fubme warge aneers wvs T
11. 502 el 5w e RS s Ay e Tl e T e
{a) S"m= (b) SO OFIR @ 6673 x 0N (b)6.6TIx 105N
§ = (d) =T o {c) 6673 x 107N (1 66TIx 10N
1 2.7 aetrife wrters ofee o1 @ Wi TR e | 28,77 s ol fe o
Wi @ uomE  (byT {c) ¥ (d) =Te=
{a) Hepatiis D Virus £ Hepatitis A Virus 29,90 Wewi e EraEh @ v sl
{c) Hepatitis C Virus {d) Hepatiis B Virus (a) &Fr T %ﬁﬁ:—f—,’ Frrg Ta
13.1 have no kith and kin in this town. Itisa - (c) Swaw= (d) wredt B
(a) prepositional phrase  (b) conjunctional phrase | 3¢ S e TERETer =e
(c) adjective phrase . noun phrase (a) fafes warse confam tadt =
14, F=? e SRR T GRS O™ B O TTRE o fefes o o 2vE =
il (c) @ camerss wopes w0
@v=om (b) 4 ¥ (d) e i RORETeTs tek =
(c) &7 % (d)> = by 3. o fefawfbre fawres ey
I5. The antonym of "harbinger” 1s - CuSO,+KI -# Cugl+1;+K:S0,
(a) educator (b) messenger @Cu (M T (K
@ follower (d) leader 32, 7= yraturez W
16. w7 Eroni g A 6 ) % TRETA (T W ARSI YA T
() e (by S (b) ST S fete oo 3 T
(c) TR & TR () erwrfe vafsa (c) 100pm w51 %% o7
17. Father loves me. Here “loves” is an example of - (d) THTRE GHIHICNTSE T8
(a) intransitive verb  (b) simple verb 33.H, 300 G emf %
(c) auxiliary verb () transitive verb @ LIV 123V (©203V  (d)0T6V



34wl o o (s gt e srove e Ay
O et @ = {b) #1% ¢ wwH
(c) &1 & 2m (d) 7% o =f5
35.The man who sat next to me is an architect. Itis a -
{a) compound sentence
(h) complex-compound sentence
(c) simple sentence
.uunplcs sentence
16, s ofss war gt ofesre el s fafgg by
() gfsga (b) ffwrsan (o) feongs (@ e
37, mimnfbE axEmuTEEG wwfers sdsva am 3w e
=41 0y
.mfg (b) et (c) == (d) teg
N, WHIGE .
(a) =™ ¢ 70z wbe e
@iy «frui =f5 ey a2
(¢) a+eBs Wl gerfes v @
(d) 93% vz avmfe ofmm
39.Mollusca 97 osta @l #=y
(n) wex fa3Dgnia aferaf e sS4

T 6 SYEINE
(¢) =f s cyfem fomam @i
() mesEE @EE e EEE
40,72 s=fem s
{a) CH,=CH; {h) CICH=CHCI
@ CH,=CH-CH. (d) CH,-CH=CHCH,

41, 0% T2 G THET ATE TALF OO W G SEHELE
(a) 9Tee T O e e
(¢) wfeade gaa (d) ea= <n
42, afyepedy smar o wifek sfowrrs m fFea w2 = -
(a) ToTee WRT=2 S (b) FSH =% T2 T
waala canred T (d) Farue Swe
43,5700 TR -
(a) "nfa =omes @
(b) TRIECET - | @t || N ==
(c) BTTRERN 2T aTYR
wfre= Sem @
44, 31w s Prfasfafbe Sem feonza core farre apiufers
o 4eRT Q7
(a) TfEwma A0 (b) Frrema STITSTEE
.ﬂm (d) Prsma JIEGE
45. 31 -

(a) ¥ A FIH

(b) SuTTCUR CEwD1 T (T FRepe T

(c) a3l sfere(+DTEE QTN

@ T A fawiresTa wfEe
46,77 @ A oMTda TGF AT W FE 2T S

pnd afya wmndee cseTE T2

®1c O (c)40° () 60"
47,7 i SN e fafm our

@ CH,CH,CHO (b) C1,C-CHO

(c) H-CHO (d) CeHCHO
“.WWWmemmr

(a) >4 afe 3293 (b) 8 FTEVE 3243

@376 R (d) 26 T 3pR



49, Frse = ey wan forge o e STo cei mew Whe

2T T ANy
(1) GO =g e v
(c) tesife (d) 0 =F
50, =R St arrfted skaen
(a) Towort frer wrkeny () P siam
(c) B0 wirs wdw vk (d) wfs wilEm
5, WIFATHTE (10 sy vy
(a) WileTrs Mirs (h) ity
(c) wirpm [ Rlaehor
52, 7e1a B8 anfarabnfers geifre wray
R (bySEE (o) P (d) B

S3.7wsmrera 0.01M NaOH @3 0.1M H.S0O, e aefe
faze w
{a) T=wdh {b) fzrera Ouf’m (d) oy
S4.371R T Yooo il Spre Wt TavR Ww wy
{a) 8.1 ms™ (1) 38 ms?
$7.33 ms* (d) 9.8 ms*?
55, <mm A=AE Ph Mz o s a1y wEy
(a) s - 6, &9 - 12 (b) *nfrz - 5,58 . 14
e . 6,45 14 (d) o - 7, 459 - 13
56.5-019e (972 WgEe v O s o -

(a) Frény s (b) 90° wFTm

(o e (d) 60° wreze
87. @0 T Wiver

(wowre (b) fzsmei®=

(¢) FETEEfs () ==

§8. T2 HawTn oibin swew @iy

(a) efarew Qﬁ (¢) o5 (d) Ty
59. 7= mzfee oty
(a) THER= tblﬁxsrmﬁ:[cmmm.mﬂm

60.We want 10 take legal action against the hoodlum.
In this sentence “1o° is a‘an-
(a) adverb (b) conjunction
(¢c) preposition @ infinitive marker
61. %= T2 pH 7eIre e ANl e T
(a) T=rah = (B 2% f) ‘ CaCO,
{¢) KNO, (d) NH;NO,
62. 0 oT¥ ez 7 e gwwr
(@we (b)gmw @) wnfea (d) et
63.ft52 =1l 20= @TE ow® atherosclerosis 0 “E?
(JLDL () VLDL (¢c)HDL  (d) IDL
64. =fox pvam et wemm waatedy fmpe comfbe wastirs
@y
(a) sfered sfrwem @ rfoe omen sem
(c) FersT Syesst (d) warenfze s
65. “Frma” @ mfirdvfre gerem
(a) eferedm (b) Bueferum
O Fehformm (d) Frsrefa
66. TTIITER CF00 D AF=?
(a) fasFi wefers com 3fs arz
(b) ¥t I T Aenfre T
(C) TITTE AT& G@FTACATN oIS
vz fefeg s farsfre wre s
677w o R ey
(a) reve Torm oW

® (b) *merfre efrrm
TR e

(d) €T ey SoE

68, AneTorE Ry e avw R oM EET

(a)teers (b)TmE (c)F™ Q*ﬁ L
69.fse corfh ffirm oo aw

@ mol L's (b) mol Ls !

(¢) mol L “'s (d) mol 'L 's !

70."There is no mother but loves her child”. Here “but’
s -
(4} conjunction (b) adjective
@ neganve relative (d) adverb
71.fabg e farsa caafa fefars s 202
ta) =ifeamaa 5a (b) FranowEs Fa
200 s A (d) w5 fe
72.famsa aw® febitan Srinefas) guvi e
(i) Facsnf caievsi (b) 7951 2. 5u14
TR Licui] O e
73, @sminm o @ sier
(o) arrufam B we wfards @
£ = furm ifds
(¢) febifum o ey
(d) stfe ama 500 Daltons £4 4=
74. 75 T ol wwcn fge oo 7w wtss 2
(a) TR () Free o (d) e
T5.5mratH T (Athlete’s foot) &% Tm4= oy
(a) SIS G SEATHA AR
(b) =TET® @ Y= @R

(¢) wNrEsfTe v
@)= o wbimra soawy
76. st cRmfeRT e wEwmws W o A e
(s, vifew 55 e (b) Frmsfam wrgrs
(c) =fér Zra (d) 5 gryar
77.5EGIE Gl @ = W
(a)@mmFm e frss 1

O e qv %R

(¢) CHITAATISTN QTTEL I

(d) e w-faafde yire
78.Choose the correct sentence -

(a) T am very better today

(b) The goods are of inferior qualities

¢ D He gave me some advice

(d) He requested ol my help

79. w%sfofm fr verm wifme «es
O anafs aa w@ebm  (b) wneds ad s
(c) WReFm am TwBem () rerwmEs a7 wr%efm

80, vl Sratafvan Hursem s o B SRS ap
(a) Tamiferarme srds (b) =1 zemra
@i ok (d) *f5 “free

81.1.032¢ O, @22 0,573g CO, 97 feae= (O, 99 =14
YT FE?
(a)0.1677 €90.287  (¢c)0.713

82, EER o guw sl @ ufe e
(a) i wHfew ) i g e
(¢) sr¥m gferny (d) =rer cagl

83, "SR ©T% 9F IS TEH ST WFTUEA" - 4 AL A
TR @7
(a) wraws sTw el
(c) ST (STygdt

(dy 8323

(b) srerere wrzgm
’wnﬁm




B4, I wE-E e W ey
{u) 0,134 nm () 0.195 nm
@00.139 nm (d) 0.123 nm
85. 100m &1 9= G= 45Km/h! @t st | Km A aaf
e wfers a2 | Bofl sfews sare GAla o2 sy
Ltz
) 88 D (b) |8 DTS (¢) 80 BILEs (d) 24 DS
H6.9T¥2 wvw gfzrnm e @@ty
) wryfea wyfae, wheaanam & Ty
(b} Fefern, asfara® o5 o wEDagea
(¢) g%, wromnEty a awfarad &y
(uly =ren, wremgles aTwi®a 2 wapnEcH
RT.CulOCHO mltes Ol a3 osadation number @2y
(m-1,-1  (by41,-2 @+L-1  (d)-1,+2
KR8, sEw fpey et wfrmy
(1) 4o Acfa 7m
@ sivia g erEa Fevmw
(¢) Arglge =iaw (moss) e «fafve
(d) 9fn o7 wiw
89, St Hw oz wy wm wrate A’ w wifE fomre
femy
fa) & (h) a @ (d) &
00, == Afere weardn TEy cser o e Henfae o
O ot werads gfewem (b) farsee
{¢) wifewm (d) serada
91,0 S s Bt aesnerea sfer anfan
() HEsemE Wity

O EEtangrfe - 9
(c) sifrsrsmprate ¥l smfe
(d) sttt e

92, 5w Lad Y waraeTa aase fearae ey
(a) Bﬂc‘lg H49 (hy NaHCO, 59
@) Br, 54 (d) FeCly 597

93. areyetia “five 20 H° SRiet auens s @2, 1 ph
am T |47
(a) 0.004M (B)40M () 04M @ 0.04M
94. @ fafan smfswde s fufufem gome «feers o
() freme Sl (b) S0 fafaum
@ e frm (d) fewrdfaens
95.-CONH- @ @sila 3%
@ Ty (b) [} - prETamiIZe
(c) a - grETETET (d) 23t
06, FFTH SmHs g (Wl
@Kgm’ (b)Kgm (c)Kgm? (d)Kgm'
97. Which sentence uses inchoative verb?
(a) It is dark @0 1tis growing dark
(c) He 1s weak (d) He was king
9R, Ehrariry afavin wog aew e @ amfutess
O «&Frs  (b) &= (c)wafs  (d) =mfmme
99.An ‘elegy’ 1sa-
(a) satire (b} limerick
0 poem of lamentation  (d) hymn
100. Which one is a masculine noun?
(a)miss  (b)spring @ death  (d) liberty



